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ANUFUNuUsLIaULAa (Recurrences)

e NMSLAAUANMUTUWUSURIINUIULENTURIGD

0,1,2,3,4,..

3,57,9, ..

0, 1,36, 10, 15, ...

0,11,23,5,38,..
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a,=a,,+1 Wwan>0, g=_0
a,=a, +2 Wan>0, g=3

a.,+n Wan>0 =0

Q
Il

=a,,+ d,,Wan>1,
aGg=0a=1

Q
I
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0,1, 3,6, 10, 15, ... (Iterative)

o AaULUTUATUMIAIN N

v 1

e 3 a, = (0+1+2+...+n)

LY

import jlabJLablO;

public class SumxN
public static void mainStringn args) |
int n = JLablOreadlnt(n =
Systemoutprintlnamy;

gtatic Int aant n) ¢
Int s = o
for Int 1 =0 1 <= N, 1+
S += 1
return s
}

}
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0,1, 3,6, 10, 15, ... (Recursive)

o AaULUTUATUMIAIN N

v 1

e Mag,=ag,,+n Wan>0g,=0

import jlabJLablO;
public class SumxN

int n = JLablO.readlnten - v,
Systemoutprintlnamn

public static void mainStringn args) |

TUsunsuIauLin
(recursive program)

gtatic int agintm ¢ .-77 7T
iIf n <= o PPt
return oo <7~ B {
else 9n =
return an-1) + n;
} v\\\ _______ ’//
1 -
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ifn<0

d,, + n otherwise
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0,1,1,2,3,5,8, 13, ... (Iterative)

o LAHUTUTLATUMIAIN N
import jlabJLablO

public class Fibo ¢
public static void mainStringng args) {
int n = JLablOreadlnt(n = v,
Systemoutprintinamn)

}

static Int a

1|
=
=+
2

return t

}

}
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0,1,1, 2, 3,5, 8, 13, ... (Recursive)

o AaULUTUATUMIAIN N

R

LY

e Ma,=ag,,+a,, Wan>1,g=0,g=1

import jlabJLablO;

public class Fibo ¢

}

static Int aiant n) ¢

iIf n < 2 return n

return am-1) + am-2):

} L
}
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);

&

public static void mainStringn args) {
int n = JLablOreadlnt(n =
Systemoutprintlnan

-——

1- -~
-
P

P

/

~
‘_—-_—

-

0 ifn=20
1 ifn=1

d.,+d,, otherwise
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TdsunsumnasnTuase (Iterative)

e Aadn1s d[0] + d[1] + d[2] + ... d[d.length-1]

public static Int sumint g dy {
Int s = o
for (int 1 = oo 1 < dlength; 1++)
S += diiy;
return s

}
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TdsunsunnasInluased (Recursive)

anavn1s d[0] + d[1] + d[2] + ... d[d.length-1]
e AMnualii s, =d[0] +d[1] + ... + d[n-1]

e URAIIN s, =d[0] +d[1] + ... +d[n-2]

e a¥ldiins,=s,, +d[n-1] Wian>0,s,=0

o Aatdiauiily |
s(d,n)= s(d,n-1) + d[n-1] Wan>0,s(0)=0

public static int sumiantg d ¢
/

I
I

]

I

I

: return sumd, d.length) /

/

! + o ) ) )
: private static int sumintg d int n) ( ./

! iIf n <= 0 return o e~ -7

~1___, return sumd, n - 1) + din - 13
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TdsunsumAunngaTuased

o AMUAlA m, = max(d[0], d[1], ..., d[n-1])
e UL&MIIN m,_; = max(d[0], d[1], .., d[n-2])
e 6 m, = max(m_,, d[n-1]) lan >0, s, = d[0]

e Aatfiay m(d,n)= max(m(d,n-1), d[n- 1]) n>o0,
s(l) = d[0] N

; public static int maxdintg d ¢ '|
! return maxd, d.lengthy |
I
I
I

I
‘\ E;rivate static Int maxantyg d, int n) ¢ ,
““+--, if n = 1 return do: A
INnt m = maxd, n - 1), «--""
return m > dmn-11 2 m : din-1);

}
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TUsunsuRIsNLKUIARIAINARA TuaTLsE

public static Int maxanty dy ¢
return maxd, d.length)

+

private static int maxdantg d Int n) ¢
iIT (n == 1) return dp;
int m = maxd, n - 1), AUAUNNER
return m > din-1 2 m . din-)y;

}

public static iInt maxldantg dy ¢
return maxld, d.length)

}

private static int maxldantg d Int n) ¢

if n =1 return o -
1)

Au index i 1
d[i] A unge

int 1 = maxld, n - 1,
return dii; > din1] 2 1 : Ny,

}
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AN EAIAULUULAAN

. 23 14 | 5 |99 | 9
e avanatitilugavgiu
— RIUWIN BaILRELE 25 14|15 |9 [99
— &udihe g69'131389 23 14 | 5 | 9 | 99
e Rruding 9 14 | 5 [ 23 | 99
— MMNAAIUNFA 3 7 -
— FAUAUMIFANNE
. 9 5 | 14 | 23 | 99
* YAl
5 . 9 5 | 14 | 23 | 99
— ahumuaguugm
RIUAMLAUNTIA 5 9 | 14 | 23 | 99
— LLEQ'JQVL‘]JL?'EI\‘JEQ'IQ‘]JN'JH = 9 | 12 | 23 | 99
nvinaea 'l
3 9 | 14 | 23 | 99
3 9 | 14 | 23 | 99
2 9 | 14 | 23 | 99
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AN EAIAULUULAAN

public static void selectionSortinty data) ¢
int 1, t;
for (int k = datalength; k > 1, k- ¢
1 = maxldata Kk

int 1, t
if n < 2 return:
i maxldata, n:

t = data;
datari] = datan-1;
datan1 = t

selectionSort( data, n-1 )
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t = data; -
datai) = datak - 1 Iterative
datakk - 1 = t
+
} public static void selectionSortint) data) ({
selectionSort( data, datalength )
+

private static void selectionSortinty data Int n) ¢

Recursive I
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ANsAUIaL af mod m

e aP mod m tilunisarwrannlguaalunisidinsigau

e GnaLnI 1:2209% 31 = ?
— Audes 220 16 1048576 anniiu % 31 16 1
o (a9 2 ; 2100 % 31 = ?
— AU 2101 16 2535301200456458802993406410752
U % 31 16 2

— vindawuy : 14 220 % 31 Widludseieaamid
e 2101 04 31 = 2 x (220)5 % 31
e 1diANNN5737 (@b % m) = (@ % m)(b % m)
o 210104 31 =2 x(2%) % 31 = (2 % 31)(2%° % 31)> =2
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ANsAUIaL af mod m

/

1

a*% m = < (a”2% m)2 % m

_2(aP /2 % m)2 % m

fp=0
if pis even
if p is odd
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Ky % m; 1S odd

public static Int powerMod(int a iInt p, Int m {
iIT p == 0 return 1,
iIf p =1 return a %
int kK = powerMod@a, p / 2. my,
k =k ~ k % m
iIT (P %2 =17K-=1*
return Kk;
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TuUsuwATULUULIULAR

e TisunsUNIANTBUAAILAY

o ANsvinunUdLtilunseily

— AsdlfugIu vinasaldviu

— Asdldu Bandias Tasuuanadilynidadidnad
o LAaudNE (?) & (?) wavineudinin
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